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Hwéng din tra 16i cho mbi cau:

Tar cau ’1 - Cé}J 207: Dung bt chi to den 6 chon lua trong Bang tra 161, vi du chon dap an @, to deNn o
dap an nay. Néu muon doi chon dap an khac, dung gom dé tay sach dap an ci va té6 den dap an méi. (moi
cau tra 1oi dang 2 diém)

Tir cAu 21 — cAu 24: Thi sinh ghi cau tra 101 vao bang tra 161 (mdi cau tra 11 dlng 3 diém)
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BAI KHAO SAT (gom 24 cau)

Question 1. Look at this sequence of numbers. Choose the correct answer for the |? .
2120 |(18 |15 11| ? A.9 B.8 cC.7 D.6

Question 2. Choose the option which is different, in some way, from the others.
A. “SDGF” B. “TPLK” C. “VPNM” D. “AOEI”
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Question 3. Cat Hong hill, Mai Né fishing village, Phi Quy island, Duc Thanh school. Which province do
all those places belong to?
A. Ninh Thuan province  B. Binh Thuéan province C. Khanh Hoa province D. Pha Yén province

A
/ .
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Question 4. The figure on the right consists of 35 cubes. People paint the outer part of
the figure and then split it into cubes. How many cubes are painted on 3 sides?

A. 1 cube B. 4 cubes C. 8 cubes D. 16 cubes
Question 5. Which of the following consists of synonyms with “nation”?

A. Glang son, non séng, son ha, nhan dan  B. Giang son, son ha, to quoc x4 tic - [N

C. T6 qudc, nti séng, x4 tic, nhan dan D. Té qudc, thién ha, dét t6, ndi sbng = "\ é _____ [/ \“7",/
Question 6. Read the following story. R

Pencil: I'm sorry.

Eraser: Why? You didn’t do anything wrong.

Pencil: 'm sorry that you get hurt because of me. Whenever | make a mistake, you re always there to
erase it. But as you make my mistakes vanish, you lose a part of yourself. You get smaller and smaller
each time.

Eraser: That’s true. But I don’t really mind. You see, | was created to do this. | was made to help you
whenever you make a mistake. Even though one day, I know I’ll be gone and you’ll replace me with a new
one; I'm actually happy with my job. So please, stop worrying. I hate seeing you sad. (extracted from
internet)

What is the meaning of the story?

A. The pencil feels annoyed about his work being erased by the eraser.

B. The eraser feels delighted to fulfil his responsibilities.

C. The eraser hates to see the pencil feel sad, so he carries out his duties.

D. The pencil feels fed up when he needs a new eraser all the time.
Question 7. This lady is the first female General of the Viethamese People's Army. Her name is associated
with Bén Tre’s Bong Khoi movement. Who is she?

A. Nguyén Thi Binh  B. Nguyén Thi Binh  C. L& Thi Hong Gdm  D. Nguyén Thi Minh Khai
Question 8. "Once upon a time, a man and his wife have the good fortune to have a goose which lays one
golden egg every day. Lucky though they are, they soon begin to think they are not getting rich fast
enough. They imagine that if the goose is able to lay golden eggs, its insides must be made of gold. And
they think that if they can get all that precious metal at once, they will get extremely rich very soon.
Therefore, the man and his wife decide to kill the goose.

However, upon cutting the goose open, they are shocked to find that its insides are exactly like
those of any other geese!"

Which of the following proverbs best expresses the message of the story?

A. Khong nén bg tdt cd 6 tritng vao trong clng mét ro B. Tritng ma doi khén hon vit.

C. Tham thi tham. D. Tich tiéu thanh dgi.
Question 9. Read the poem below.
T6i mudn néi: Nang oi, Muén doc Ién thanh tiéng
T6 ciing rdt muén choi, Hay cuoi to, noi to.
Muén leo tréo, tung béng, Tiéc la me dang mét
Nhay day, nhay lo co Nén t& phdi ngoi im. (Khi me mé, E.Blagina, Thii Bé Tan dich)

The main content of the above poem is:
A. Character "t¢" talks with the sunlight about her/his attractive games.
B. Character "t¢ " wants to play some favorite games with the sunlight.
C. Character "t¢" is afraid to playing loudly because of her/his mother's illness.
D. Character "t¢" feels sad because she/he cannot play her/his favorite games.
Question 10. There is a clock which runs faster than the standard time by 3 minutes per hour. If this
clock is adjusted correctly at 9 am, then what is the standard time when the clock shows 12:30 pm?
A. 12:30 pm B. 12:10 pm C.12:20 pm D. 12:24 pm
Question 11. Look at the two pictures. Choose the correct answer for the blank box.

ﬁ a;»"‘ % w? %ﬂ %
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Question 12. Look at the number chart. Choose the correct answer for the .
A.9 B.4 C.12 D.1

12 9 3 6

24 |18 | 6 ?

Question 13. The production of electricity for human life activities takes
various forms, each with different degrees of advantages and disadvantages.

In the following forms of electricity production, which is the most harmful to the environment?

.

- ¥ by

A. Hydroelectric power B. Solar power C. Nuclear power D. Wind power

C R .

Question 14. Luong placed four things into four separate tanks A, B, C and D. He placed 100g of food
and 100ml of water into each tank. At the end of two days, he recorded the amount of food and water
left in each tank. Which tank most likely contained a non-living thing?

Tank | Amount of food left (g) | Amount of water left (ml) A. Tank A
A 70 20 B. Tank C
B 20 30 C.Tank D
C 100 100 D. Tank B
D 0 0

Question 15. Which of the following statements is TRUE?

A. The water cycle is a man-made one.

B. The water cycle forms clouds, rain and wind.

C. The water cycle is created without energy from the Sun.

D. Clouds are made up of water vapour.
Question 16. To calculate the leap year for the lunar year, take the corresponding calendar year and
divide it by 19. If the remainder is one of the numbers: 0, 3, 6, 9, 11, 14, 17, that lunar year has a leap
month.

To calculate the leap year for the calendar year, we divide that calendar year by 4 and if it is an
exact division, that year is a leap year — the month February has 1 more day.

Which of the following is the "leap year" for both the lunar year and the calendar year?

A. 2032 B. 2031 C. 2054 D. 2020

Question 17. Which of the following combinations of faces in the pictures below can form a rectangular

solid (six sides)? [ ¢/ 0 \
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Question 18. According to the rules, working people do not work on Saturdays and Sundays. Therefore,
if a national holiday falls on Saturday or Sunday, working people will have the next working day off.
April 30 this year was a Tuesday; working people had this day and the following day (the Labour Day)
off. How many consecutive days off will working people have in 2020 (a leap year)?

A. 2 days B. 4 days C. 3 days D. 5 days
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Question. 19. What time does clock 5 show in this sequence?

1 2 3 4 5

A. 4h35 B. 5h35 C. 6h35 D. 8h35

Question 20. How many (—J are equal to the weight of one @?ﬁ ?

&P

@@,@g@ e 1 ? 5

A.3 B.5 C.10 D. 15

Question 21. Every book in a popular bookshop has a barcode printed on the back cover. Every
barcode has 13 digits from 0-9. The first 3 digits represent the manufacturing country, meanwhile the
following 5 digits represent the production company. Then the next 4 digits represent the product code.
The last digit is the checksum number. The figure below gives an illustration.

I | || I | | Odd positions: 6, 8, 8, 1, ......

Even positions: 9,5, 9,0, ......
8911075853

One particular book commdentally has a special barcode 690909500151A (A is the checksum

number) to help us calculate the checksum number. When we read the barcode from the left, the grand
total of the sum of the digits in the even positions multiplied by 3 and the sum of those in the odd
positions is a multiple of 10. What is the value of A?
Question 22. Daylight Saving Time (DST) is the practice of setting the clocks forward one hour from
standard time during the summer months, and back again in the fall, in order to make better use of
natural daylight. As DST starts, the sun rises and sets later than the day before so all the clocks are set
one hour earlier. “Spring forward, fall back” is the way people use to remember how to set their
watches. Look at the pictures below. Fill in the correct answers (date, hour, minute and second)

\iJ

Time Zone DST started DST ends Difference == Hochiminn

A Sun00:14 £ London
BST (British Summer Time) 31 Mar 2019 27 Oct 2019 6 housr behind 09 Jun 2019
UTC/GMT +1 hour Forward 1 hour Back 1 hour HO CHI MINH
Date: ........ Jun 2019
400 800

Question 23. The square (3x3) on the left has the
700 | x| €qual sums of 3 numbers in each row, each column, and each diagonal line. Find the
value of x?

Question 24. Thanh and Tam joined in a bicycle race. The athletes started at the same time and finished
at different times. Thanh came right after Tam and stood at the 17th position. Tam ranked 15th from the
bottom. How many athletes participated in the race?

THE END
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